Name: Date:

MOLE CONVERSION

Answer the questions. Write answers on new paper.

There are three mole equalities. They are:

1 mol = 602 x 10” particles
1 mol = g — Formula — mass (periodic table)
1 mol = 224 L for a gos ot STP

Eack equality can be written as a set of two conversion Factors.
They are:

1 mole 602 x 10” particles
602 x 10 particles } { 1 mole
1 mole g — fFormula — mass
g — fFormula — moss} { 1 mole
1 mole 224 1L
{ 224 L } { 1 mole }

1. How many atoms are in O/50 moles of zinc?
2. How many molecules are in Q400 moles of NQOSO

3. How many molecules are there in 400 moles of glucose,

CeHn0s”

4 How many moles of magnesium is 301 x 10 atoms of magnesium?

5 How many moles are 120 x 10” atoms of phosphorous?




